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17. Determine the equation of the plane that lies between the points (—1, 2, 4)
and (3, 1. —4) and is equidistant from them.
e

L ek agn
nov wewsd Ro Ahe Qe (24)
% '%’_ \\'

- K‘\,J«\‘\-'Lr"\"«\ R vvC\&QomlC
() - (g oy )

Rax Bus Ly A0 =0
\ me‘ = L'L/,L 1 5—’; ) 9:)

N -W-¥F %= 0

_ 2
\(\,‘\ - q’/'L "Qékb\*vt 0 i K‘\ e O)
\)/_ — l“ 'Erb’,i

)V:—Si :,o HK"{)’%%"%"O
[ag

By Abr G20
16. Determine an equation of the plane that is perpendicular to the plane

e
x + 2y + 4 = 0, contains the origin, and has a normal that makes an angle of \G!
30° with the z-axis.
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15. Determine the Cartesian equation of the plane that passes through the points
[1&4, 5) and &3, 2, 1) and is perpendicular to the plane 2x — y + z — 1 = 0.
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14. a. What is the value of & that makes the planes 4x + ky — 2z + 1 = 0 and
2x + 4y — z + 4 = 0 parallel?

b. What is the value of k that makes these two planes perpendicular?

c. Can these two planes ever be coincident? Explain.
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13. a. Determine the angle between the planes x + 2y — 3z — 4 = 0 and
x+2y—1=0.

b. Determine the Cartesian equation of the plane that passes through the
-3 +1 + 4
point P(1, 2, 1) and is perpendicular to the line o =7 -
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